Year 5 Homework, Spring Term Week 6 3

-

144-79 =
56 x 6 =

Hwh

6.1, 5.8,

V

What is 43.9 x 100=
Which number is closer to 67

6.15

5. Which is bigger?

7x70r8x6

O 5'
6. What is the name of this shape? 6

work out 10% first)
. What is the name of this shape?

Maths: Speedy Six

. What is 0.6 x 0.8? (How can you use

y Y

Which number is closer to 2?
2.05, 1.97, 19696, 2.043
What is 4.675 divided by 1000?

the answer to 6 x 8 to work this out?)
What is 3/8 of 104?
What is 20% of 900? (remember

/

Reading Comprehension

Please complete the reading comprehension.

-

Spellings \

Support

adverb
advert
adjust
admit
advent
admire
gave
take
cold
told

Optional Maths Extension:

One bonus house point available

Holly says,

J

‘One-third of this shape is shaded’,

Is Holly correct? \
Circle Yes or No. Yes / No

Explain how you know.

Homework is due in on 15t March



